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QUESTION 1

If you do not SUPPRESS DIALOG in a dynpro before you LEAVE TO LIST-PROCESSING, the following Mill happen:
(More than one answer is correct)

A. The screen will be displayed with the report that was built, but the gui-stus will be the one from the previous screen
B. The report will be displayed on the screen only after the user presses the enter key

C. The previous screen (calling screen) will be redisplayed

D. The screen will be displayed, and will be empty

Correct Answer: BD

QUESTION 2

What is the root class in the RTTS inheritance tree?
A. CL_ABAP_ELEMDESCR

B. CL_ABAP_TYPEDESCR

C. CL_ABAP_DATADESCR

D. CL_ABAP_COMPLEXDESCR

Correct Answer: B

QUESTION 3

What is true of the new-page stement? (More than one answer is correct)
A. Itis an event

B. Requires at least one write stement before it can be executed

C. Increments the page counter

D. Used to generate a blank page

Correct Answer: BC

QUESTION 4

A view called znyview is created in the dictionary. What gets physically created on the underlying dabase?
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A. Views are not created with the dictionary
B. a view named v_zmyview

C. Views do not get created on the dabase
D. a view named zmyview

Correct Answer: D

QUESTION 5

How can records from the left ble be omitted in an outer join?
A. specify conditions in the WHERE clause

B. There is no way to omit records from the left ble

C. specify conditions in the ON clause

D. specify conditions in the FROM clause

Correct Answer: A
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